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| > w1 <-read.table(“ch091.dat”, header=T, row.nan
> w2<-cor(wl)

> plot (eigen(w2)$ values)

> w3 <- factanal (w1,2,rotation="“promax”) i 197000

> plot (w3 $ loadings)
> text (w3 $ loadings,rownames(w3 $ loadings ), pos=1)
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| > w1 <= read.table(“ch091.dat’, header=T, row.nan
> w2<-cor(wl)

> plot (eigen (w2)$ values)

> w3 <~ factanal (w1,2,rotation=“promax”)

@AHLEL  “none”
N2y o RiE - “varimax”
703y RiE ¢ “promax”

> plot (w3 $ loadings)
> text (w3 $ loadings,ro
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| > w1 <-read.table(“ch091.dat’, header=T, row. " '
> w2 <-cor(wl)
> plot (eigen(w2)$ values)

> w3 <- factanal (w1,2,rotation="“promax”) i 19190 ©

N
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> plot (w3 $ loadings)
> text (w3 $ loadings,rownames(w3 $ loadings), pos=1)




